 Math 160,  5.2: Probability Distributions

Rolling 2 Dice:
  Let the random variable x represent the sum of 2 dice.  Is x a discrete or continuous variable?

 Construct a table describing the probability distribution.

	x

(L1)
	P(x)

(L2)
	xP(x)

(L3=L1*L2)
	x2P(x)

(L4=L1*L3)

	2
	1/36
	
	

	3
	2/36
	
	

	4
	3/36
	
	

	5
	4/36
	
	

	6
	5/36
	
	

	7
	6/36
	
	

	8
	5/36
	
	

	9
	4/36
	
	

	10
	3/36
	
	

	11
	2/36
	
	

	12
	1/36
	
	

	
	
	µ = ∑ [xP(x)] =__________
	∑ [x2P(x)] = _____________


a. Verify that this is a valid probability distribution. (What two things must the probabilities do?)

b. What is the probability that the sum of the 2 dice is at least 3?

c. Find the mean and standard deviation.
µ = ∑[xP(x)] = ________
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= ∑ [x2P(x)] – µ2 = ________


  ( = 
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      = ________

d. Using the Range Rule of Thumb, most values should lie within 2 standard deviations of the mean.  

    We identify “unusual” values to be those outside of these limits:
Maximum usual value = µ + 2(  =   __________

Minimum usual value = µ – 2(   =   __________
Is rolling a sum of 2 unusual?  

What other rolls are unusual?

What’s the probability of rolling a sum of 2?
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